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RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
5.000 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((0.288 — 0.288) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
1.440 m2 = 0.288 * (5.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
0.518 m3 = 0.288 * 0.360 * (5.000 + 0.000 + 0.000 + 0.000)
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
1.440 m2 = 0.288 * (5.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
1.440 m2 = 0.288 * (5.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = (UBRANE X B4 - FEfE) X LILER) + (BAIE X JEA X (RIBERE + RIEEE + MELER))
0.291 m3 = ((0.288 * 0.220 — 0.005) * 5.000) + (0.288 % 0.220 * (0.000 + 0.000 + 0.000))
Ay )E 1 |SERAIE: = AR X B4 X (ETHEE + RIEE + RIBEE + WEER)
(ElZE9m ) 0.216 m3 = 0.288 * 0.150 * (5.000 + 0.000 + 0.000 + 0.000)
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£zl 1 |[F&E = WEE X BEA X (ETIERE + RIIEE + RIIERE + MEIER)
0.432 m3 = 0.288 * 0.300 * (5.000 + 0.000 + 0.000 + 0.000)
HEHI 2 |FHE = (GREIE X BEA - EmfE) X (ETEE + EER)) + GRHIE X B4 X (RIEE + BIER))
0.205 m3 = ((0.288 * 0.160 — 0.005) * (5.000 + 0.000)) + (0.288 * 0.160 * (0.000 + 0.000))
ZEE IR 1 |%E = WEE X (ETIER + RIERE + RIIERE + MEIER)
1.440 m2 = 0.288 * (5.000 + 0.000 + 0.000 + 0.000)
AR IR 1 |FE = AR X (ELER + fiEER + iR + MEER)
1.440 m2 = 0.288 * (5.000 + 0.000 + 0.000 + 0.000)
ARG IR 2 |HE = wHlE X (RTER + RIEER + BUFER + MEER)
1.440 m2 = 0.288 * (5.000 + 0.000 + 0.000 + 0.000)
PEHIHE O R L 1 |FE = WHE X A X (TR + RER + REER + fEER)
0.316 m3 = 0.288 * 0.220 * (5.000 + 0.000 + 0.000 + 0.000)
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12.000 m = ((6.000 + 0.000 + 0.000 + 0.000) + ((1.500 — 1.500) * 2.000)) * 2.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = (GBHIE X JER - Fmif) X (ELERE + WEERE)) + GRHIE X JEA X (RIBIER + 3YRIER))
12.570 m3 = ((1.500 * 1.410 — 0.020) * (6.000 + 0.000)) + (1.500 * 1.410 * (0.000 + 0.000))
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
AT IH 1 [HdE = BElE X (ETER + RER + LR + fiEER)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
AR IH 2 |EdE = HEHIE X (ETMER + RIEE + AEERE + WMEER)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L L = (GRHIE X 2 - Fmif) X LITIER) + GRHIE X B4 X (RIBEE + 38R + MEIER))
5.820 m3 = ((1.500 * 0.660 — 0.020) * 6.000) + (1.500 * 0.660 * (0.000 + 0.000 + 0.000))
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Ay )E 1 |SEREIE: = AR X B4 X (ETEE + RIEE + RIBEE + WEER)
CEESALEI) 1.350 m3 = 1.500 * 0.150 * (6.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 | FoE = SRERAIE S R
(ElZEHmA]) 1.350 m3 = 1.350
Ay )E 1% = EELE LR
(HEHI) 12.570 m3 = 12.570
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RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((1.500 — 1.500) * 0.000)) * 2.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
4.500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = (GBHIE X JER - Fmif) X (ELERE + WEERE)) + GRHIE X JEA X (RIBIER + 3YRIER))
4.089 m3 = ((1.500 * 0.910 — 0.002) * (3.000 + 0.000)) + (1.500 * 0.910 * (0.000 + 0.000))
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
4.500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
4.500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = (UBRANE X B4 - FEfE) X LILER) + (BAIE X JEA X (RIBERE + RIEEE + MELER))
2.559 m3 = ((1.500 * 0.570 — 0.002) * 3.000) + (1.500 * 0.570 * (0.000 + 0.000 + 0.000))
BIETHOREL 1 i = JEHE X JEAR X (ETER + RIER + 3YRIER + fEIER)
0.900 m3 = 1.500 * 0.200 * (3.000 + 0.000 + 0.000 + 0.000)
Ay E 1 |&hEHRE R = WEIE X JBEA X (ELIER + RIIEE + AEERE + MEER)
(ElZEHmH) 0.675 m3 = 1.500 * 0.150 * (3.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 | = SR g
CEESALEI) 0.675 m3 = 0.675
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RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
12.000 m = ((12.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
3.276 m3 = 0.300 * 0.910 * (12.000 + 0.000 + 0.000 + 0.000)
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
AR IH 2 |EdE = HEHIE X (ETMER + RIEE + AEERE + WMEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L L = (GRHIE X 2 - Fmif) X LITIER) + GRHIE X B4 X (RIBEE + 38R + MEIER))
1.272 m3 = ((0.300 * 0.360 — 0.002) * 12.000) + (0.300 * 0.360 * (0.000 + 0.000 + 0.000))
Ay E 1 |&hEHRE R = WEIE X JBEA X (ELIER + RIIEE + AEERE + MEER)
(ElZEHmH) 0.540 m3 = 0.300 * 0.150 * (12.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 | = SR g
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(RSl 1| BE = iR X (EIER + fEER + BUEER + MEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
I 1 | HE = AR X JEAR X (ETER + RIBEE + RIBLER + EER)
2.340 m3 = 0.300 * 0.650 * (12.000 + 0.000 + 0.000 + 0.000)
JHE I 2 |EdE = (ARANE X JEH - B X (LLEE + WEER)) + (RElE X JEH X (RIIEE + REE))
1.272 m3 = ((0.300 * 0.360 — 0.002) * (12.000 + 0.000)) + (0.300 * 0.360 * (0.000 + 0.000))
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
IR 2 [EE = EHE X (ETER + RIEER + WAIEER + MEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
EiEIE I 3 |EdE = JEHIE X (ETIER + RIEE + AEER + WMEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |EE = EHE X (ETIER + RIEER + AIEER + MEBER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
AR IH 2 |EdE = HEHIE X (ETIER + RIEE + AEERE + WMEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 i = JEAE X JEAR X (RTER + RIER + 3L R + fEIER)
1.296 m3 = 0.300 * 0.360 * (12.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |&hEHRE R = WElE X JBEA X (ETIER + RIIEE + AERE + MELER)
(ElZEHmA]) 0.180 m3 = 0.300 * 0.050 * (12.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl 2E9mA) 0.180 m3 = 0.180
Ay E 1 | HE = A LS
(FEHI) 2.340 m3 = 2.340
Ay )E 2 |HE = wHIEE R
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Ji& ) EHEEE A
AL 1 [ = (ETHEE + 2RVIEE + AIEE + WEER) + (GEFENIE - %amyiE) < MFmEi) X oEk
2.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
SR 1 [ = BEIE X (ETIEE + RIFLE + AREE + MEER)
0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
SN 1 [ = WEE X A X (FTHEE + RRER + ARER + MELR)
0.612 m3 = 0.300 * 1.020 * (2.000 + 0.000 + 0.000 + 0.000)
ML IE 1 [ = BEIE X (ETIEE + RIFLE + AREE + MELER)
0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
AR 1 H 1 [ = R X (ETIEE + ABIERE + ARIER + WMEER)

0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)

EHIHE DR L 1 [FdE = (GBHIE X JER - BEE) X ETER) + (RHIE X JEZ X (RIBEE + iRER + MEER))

0.518 m3 = ((0.300 * 0.870 — 0.002) * 2.000) + (0.300 * 0.870 * (0.000 + 0.000 + 0.000))

Ay )E 1 |EEEEIEE = BEE X BEA X (ETIER + RIIERE + RIIEE + MEIER)
(ElZE9m ) 0.024 m3 = 0.300 * 0.040 * (2.000 + 0.000 + 0.000 + 0.000)
Ay E 1 |[FE = SEEEAEUE LR
(ElZEHmH) 0.024 m3 = 0.024
Ay )E 1 |FE = wHEIELE
(HEHI) 0.612 m3 = 0.612
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Ji& f | FH A
EES 1[5 = WEE X (ETER + AEE + RlEE + MEER)
0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [BE = WEE X Eh X (LTIHER + RAUER + AMIEE + MEER)
0.090 m3 = 0.300 * 0.150 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 [ = (GRBE X 274 - EEf) X (DTERE +« WEUEE)) + GRNE X E2 X RILE + RURITE))
0.518 m3 = ((0.300 * 0.870 — 0.002) * (2.000 + 0.000)) + (0.300 * 0.870 * (0.000 + 0.000))
SRR 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELE)
0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
s 1 [ = mAE X (ETER + MEE + RilEE + MEER)

0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)

EHIHE DR L 1 |FdE = EHE X ES X (ETiER + RiEEk + AURIER + R ER)

0.522 m3 = 0.300 * 0.870 * (2.000 + 0.000 + 0.000 + 0.000)

Ay )E 1 |EEEEIEE = BEE X BEA X (ETIER + RIIERE + RIIEE + MEIER)
(ElZE9m ) 0.024 m3 = 0.300 * 0.040 * (2.000 + 0.000 + 0.000 + 0.000)
Ay E 1 |[FE = SEEEAEUE LR
(ElZEHmH) 0.024 m3 = 0.024
Ay )E 1 |FE = wHEIELE

(HEHI) 0.090 m3 = 0.090
Ay )E 2 |FiE = WEHIZE2E L&

(FEHI) 0.518 m3 = 0.518
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4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (GEFREIE - W@ mbsg) X FmEIL) X Gk
6.000 m = ((6.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
AL 1 [BE = wlE X (ETHER + AREE + AWER + MELR)
1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
e 1 [ = Wl X B4 X (ETHER + AREE + AER + MALER)
1.098 m3 = 0.300 * 0.610 * (6.000 + 0.000 + 0.000 + 0.000)
M I 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
HAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)

1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)

EHIHE DR L 1 [FdE = (GBHIE X JER - BEE) X ETER) + (RHIE X JEZ X (RIBEE + iRER + MEER))

0.636 m3 = ((0.300 * 0.360 — 0.002) * 6.000) + (0.300 * 0.360 * (0.000 + 0.000 + 0.000))

o Uy ] 1 |BESEEE = JEHIE X BEA X (ETER + KR + 3EEE + MEIER)
(2R A1) 0.090 m3 = 0.300 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
oy Uy ] 1 R = BEEIEHIE LS LR
(EliEEHEHI) 0.090 m3 = 0.090
B ALy S 1 |%&E = EEIEUE L&
(HEH!) 1.098 m3 = 1.098
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& fi EHEEEEE A
SR 1 Mo = IR X (ETHER + RIEE + RIEE + HEER)
1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
] 1 [ = BEIR X B X (ETEE + 2FER + ARER + MELER)
0.450 m3 = 0.300 * 0.250 * (6.000 + 0.000 + 0.000 + 0.000)
e 2 [BE = (UEEIE x B2 - BEE) X (TR + MEER) + GRHIIE X 84 X (RIBER + AREE))
0.636 m3 = ((0.300 * 0.360 — 0.002) * (6.000 + 0.000)) + (0.300 * 0.360 * (0.000 + 0.000))
M I 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
HAZIE 1A 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)

1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)

EHIHE DR L 1 |FdE = EHE X ES X (ETiER + RiEEk + AURIER + R ER)

0.648 m3 = 0.300 * 0.360 * (6.000 + 0.000 + 0.000 + 0.000)

Ay )E 1 |EEEEIEE = BEE X BEA X (ETIER + RIIERE + RIIEE + MEIER)
(Bl EHEHI) 0.090 m3 = 0.300 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
Ay E 1 |[FE = SEEEAEUE LR
(ElZEHmH) 0.090 m3 = 0.090
Ay )E 1 |FE = wHEIELE

(HEHI) 0.450 m3 = 0. 450
Ay )E 2 |FiE = WEHIZE2E L&

(FEHI) 0.636 m3 = 0.636
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T T & 2 %+ B & (8 & % )
BEBEEES - 09003300 [ LA E]
| TE®S | 12 | TE4&%H |6500RBEAZKEIS [L—+&E [ o1 | JL—r&% [WFEEDP=800
J&E Fi | IEM G B L 151 / b B =
S 1 [Mc = (GREIE X B4 - Emi) X (ETER + MEER)) + GREIE X Eh X (REEE + ARER))
3.568 m3 = ((0.750 * 1.060 — 0.002) * (4.500 + 0.000)) + (0.750 * 1.060 * (0.000 + 0.000))
BAZE IR 1 [ = BEIE X (ETIEE + RIFLE + AREE + MEER)
3.375 m2 = 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
JEEIHLD R L 1 [k = (GEHIE x B4 - &) X HLER) + GBNIE X B4 X (RIEIEE + AEE + WELER))
2.387 m3 = ((0.750 * 0.710 — 0.002) * 4.500) + (0.750 * 0.710 * (0.000 + 0.000 + 0.000))
EETHDRE L 1 [ = BEIR X B X (ELEE + 2FER + ARER + MELER)
0.675 m3 = 0.750 * 0.200 * (4.500 + 0.000 + 0.000 + 0.000)
Ry 1 [k = A UE R
(HEH) 3.568 m3 = 3.568
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T T & 2 %+ B & (8 & % )
WEESEES . 09003300 LM EEEE]
TiEES | 13 | THESAH |[RBRHEEIE = [ 01 | JL—F&% |E#hAEC(GW)
& FE ) EH I A
4 B 1 [lE = (ETHEE + ARVIER + AREE + MEER) + (GEFREIE - W@ mbsg) X FmEIL) X Gk
4.500 m = ((4.500 + 0.000 + 0.000 + 0.000) + ((0.500 — 0.500) * 0.000)) * 1.000
A B 1) 1 [HE = @HE X BEr X (ETER + AREE + ABER + MEALER)
0.225 m3 = 0.500 * 0.100 * (4.500 + 0.000 + 0.000 + 0.000)
e 1 [ = Wl X B4 X (ETHER + AREE + AER + MALER)
2.025 m3 = 0.500 * 0.900 * (4.500 + 0.000 + 0.000 + 0.000)
BAZE IR 1 [HE = wlE X (ETHER + AREE + AWER + MELER)
2.250 m2 = 0.500 * (4.500 + 0.000 + 0.000 + 0.000)
HEHIHD B L 1 [ = Wl X B4 X (ETHER + AREE + AWER + MALR)
1.912 m3 = 0.500 * 0.850 * (4.500 + 0.000 + 0.000 + 0.000)
705 1 [BE = RS S LR
(2R H) 0.225 m3 = 0.225
7% 1 [k = A UE LR
(B H) 2.025 m3 = 2.025
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEES | 14 | TIEEW |G 150H2KEIE - rES | o | —re#m  |E&E#HEDP=1200D
JEFE R IEIN il B Al 15l / it B BN
RO 1 = (BTER + RIEVIER + 3URIER + WL R) + (GEFRANE - SmiEaig) X fFRE&EIT ) ) X Bialkk
149. 400 m = ((149.400 + 0.000 + 0.000 + 0.000) + ((0.510 — 0.510) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
76.194 m2 = 0.510 * (149.400 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
74.670 m3 = 0.510 * 0.980 * (149.400 + 0.000 + 0.000 + 0.000)
I 2 |FiE = (GRHIE X JBA - B X (ELERE + MEER)) + (REIE X A X (RIFIEE + RAEER))
19.870 m3 = ((0.510 * 0.300 — 0.020) * (149.400 + 0.000)) + (0.510 * 0.300 * (0.000 + 0.000))
IR 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
76.194 m2 = 0.510 * (149.400 + 0.000 + 0.000 + 0.000)
el 2 |EdE = HEHIE X (ETMER + RIEE + AEERE + WMEER)
76.194 m2 = 0.510 * (149.400 + 0.000 + 0.000 + 0.000)
R 3 [EE = iR X (EIER + RIBER + SUBER + #HEER)
76.194 m2 = 0.510 * (149.400 + 0.000 + 0.000 + 0.000)
AR IH 1| = AR X (RTER + KRR + sUiER + fEIER)
76.194 m2 = 0.510 * (149.400 + 0.000 + 0.000 + 0.000)
AT IH 2 [EE = EHE X (ETER + RIEER + AIEER + MEER)
76.194 m2 = 0.510 * (149.400 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = AR X JEAR X (ETER + RIBEE + RIBLER + MEER)
22.858 m3 = 0.510 * 0.300 * (149.400 + 0.000 + 0.000 + 0.000)
FEHIH D R L 2 |EdE = (ARHNE X JBEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
25.218 m3 = ((0.510 * 0.380 — 0.025) * 149.400) + (0.510 * 0.380 * (0.000 + 0.000 + 0.000))
BETHORL 1 | = AR X JEAR X (EIER + RIBEE + RIBER + MEER)
3.809 m3 = 0.510 * 0.050 * (149.400 + 0.000 + 0.000 + 0.000)
Ay )E 1 |SERAIE: = AR X B4 X (ETHEE + RIEE + RIBEE + MEER)
(ElZE9m ) 11.429 m3 = 0.510 * 0.150 * (149.400 + 0.000 + 0.000 + 0.000)
Ay )E 1 |FE = SEEEAE U LR
(GhAEHRH) 11.429 m3 = 11.429
Ay )E 1 |FE = wHIEIELE
(HEHI) 74.670 m3 = 74.670
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 19.870 m3 = 19. 870
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEES | 14 | TIEEW |G 150H2KEIE - rES | o2 | —re#H |EE#HEDP=1200Q
JEFE R IEIN il B Al 15l / it B BN
RO 1 = (BTER + RIEVIER + 3URIER + WL R) + (GEFRANE - SmiEaig) X fFRE&EIT ) ) X Bialkk
19.500 m = ((19.500 + 0.000 + 0.000 + 0.000) + ((0.433 — 0.433) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
8.443 m2 = 0.433 * (19.500 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
8.274 m3 = 0.433 * 0.980 * (19.500 + 0.000 + 0.000 + 0.000)
I 2 |FiE = (GRHIE X JBA - B X (ELERE + MEER)) + (REIE X A X (RIFIEE + RAEER))
2.143 m3 = ((0.433 * 0.300 — 0.020) * (19.500 + 0.000)) + (0.433 * 0.300 * (0.000 + 0.000))
IR 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
8.443 m2 = 0.433 * (19.500 + 0.000 + 0.000 + 0.000)
el 2 |EdE = HEHIE X (ETMER + RIEE + AEERE + WMEER)
8.443 m2 = 0.433 * (19.500 + 0.000 + 0.000 + 0.000)
R 3 [EE = iR X (EIER + RIBER + SUBER + #HEER)
8.443 m2 = 0.433 * (19.500 + 0.000 + 0.000 + 0.000)
AR IH 1| = AR X (RTER + KRR + sUiER + fEIER)
8.443 m2 = 0.433 * (19.500 + 0.000 + 0.000 + 0.000)
AT IH 2 [EE = EHE X (ETER + RIEER + AIEER + MEER)
8.443 m2 = 0.433 * (19.500 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = AR X JEAR X (ETER + RIBEE + RIBLER + MEER)
2.533 m3 = 0.433 * 0.300 * (19.500 + 0.000 + 0.000 + 0.000)
FEHIH D R L 2 |EdE = (ARHNE X JBEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
2.721 m3 = ((0.433 * 0.380 — 0.025) * 19.500) + (0.433 * 0.380 * (0.000 + 0.000 + 0.000))
BETHORL 1 | = AR X JEAR X (EIER + RIBEE + RIBER + MEER)
0.422 m3 = 0.433 * 0.050 * (19.500 + 0.000 + 0.000 + 0.000)
Ay )E 1 |SERAIE: = AR X B4 X (ETHEE + RIEE + RIBEE + MEER)
(ElZE9m ) 1.266 m3 = 0.433 * 0.150 * (19.500 + 0.000 + 0.000 + 0.000)
Ay )E 1 |FE = SEEEAE U LR
CEES AL 1.266 m3 = 1.266
Ay )E 1 |FE = wHIEIELE
(HEHI) 8.274 m3 = 8.274
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 2.143 m3 = 2.143
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEES | 14 | TIEEW |G 150H2KEIE - rES | 03 | —re#  |EE#AEDP=1700
JEFE R IEIN il B Al 15l / it B BN
RO 1 = (BTER + RIEVIER + 3URIER + WL R) + (GEFRANE - SmiEaig) X fFRE&EIT ) ) X Bialkk
5.000 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((0.475 — 0.475) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
2.375 m2 = 0.475 % (5.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
2.327 m3 = 0.475 * 0.980 * (5.000 + 0.000 + 0.000 + 0.000)
I 2 |FdE = HBHIE X JBEA X (RTIER + RIPEE + AIEE + MEER)
1.900 m3 = 0.475 * 0.800 * (5.000 + 0.000 + 0.000 + 0.000)
IR 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
2.375 m2 = 0.475 % (5.000 + 0.000 + 0.000 + 0.000)
el 2 |EdE = HEHIE X (ETMER + RIEE + AEERE + WMEER)
2.375 m2 = 0.475 % (5.000 + 0.000 + 0.000 + 0.000)
R 3 [EE = iR X (EIER + RIBER + SUBER + #HEER)
2.375 m2 = 0.475 % (5.000 + 0.000 + 0.000 + 0.000)
AR IH 1| = AR X (RTER + KRR + sUiER + fEIER)
2.375 m2 = 0.475 % (5.000 + 0.000 + 0.000 + 0.000)
AT IH 2 [EE = EHE X (ETER + RIEER + AIEER + MEER)
2.375 m2 = 0.475 % (5.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = AR X JEAR X (ETER + RIBEE + RIBLER + MEER)
1.900 m3 = 0.475 * 0.800 * (5.000 + 0.000 + 0.000 + 0.000)
FEHIH D R L 2 |EdE = (ARHNE X JBEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.777 m3 = ((0.475 * 0.380 — 0.025) * 5.000) + (0.475 * 0.380 * (0.000 + 0.000 + 0.000))
BETHORL 1 | = AR X JEAR X (EIER + RIBEE + RIBER + MEER)
0.118 m3 = 0.475 * 0.050 * (5.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |EEEEIEE = BEE X BA X (ETIER + RIIERE + RIIEE + MEIER)
(Bl EEHEH) 0.356 m3 = 0.475 % 0.150 * (5.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |FE = SEEEAE U LR
CEES AL 0.356 m3 = 0.356
Ay )E 1 |FE = wHIEIELE
(HEHI) 2.327 m3 = 2.327
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 1.900 m3 = 1.900
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IBES | 14 | xT@4% |s15082kxE1SH - &S | 04 | J—F&F [Ei#EHEDP=1200
JEFE R IEIN il B Al 15l / it B BN
(RSl 1| BE = R X (EIER + fEER + BUEIER + MEER)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
JH 1 |%E = (UBRANE X B4 - FEfg) X (ETIER + fRER)) + GBAIE X B4 X (GRIBERE + RIBLER))
11.010 m3 = ((1.500 * 1.230 — 0.010) * (6.000 + 0.000)) + (1.500 * 1.230 * (0.000 + 0.000))
JHH 2 |EdE = (ARANE X JEH - B X (LLEE + WEER)) + (RElE X JEH X (RIFIEE + RAIEE))
2.640 m3 = ((1.500 * 0.300 — 0.010) * (6.000 + 0.000)) + (1.500 * 0.300 * (0.000 + 0.000))
ZEE IR 1| = AR X (ETER + KRR + sUiER + BRI R)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
IR 2 [EE = EAHE X (ETER + RIEER + AIEER + MEER)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
ZEEIH 3 |EiE = EHIE X (ETIER + RIEE + AEERE + WMEER)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |[EE = EHE X (ETIER + RIELER + RAIEER + MEBER)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
HRARE IH 2 % = JEHIE X (ETIER + RIEE + AEER + WMEER)
9.000 m2 = 1.500 * (6.000 + 0.000 + 0.000 + 0.000)
FEHIH D R L 1 | = JEHEE X JEAR X (RTER + RIER + 3L R + fEIER)
2.700 m3 = 1.500 * 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 2 |FiE = (GRHIE X JBA - B X BLIER) + (RHIE X )B4 X (RIBIEE + ST E + MEER))
3.270 m3 = ((1.500 * 0.380 — 0.025) * 6.000) + (1.500 * 0.380 * (0.000 + 0.000 + 0.000))
BETHOREL 1 | = JEHEE X JER X (RTER + RIEER + 3L R + MBI R)
1.800 m3 = 1.500 * 0.200 * (6.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |&hERE R = WElE X JBA X (ETIER + RIIEE + AEERE + MEER)
(ElZEHmA]) 0.450 m3 = 1.500 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 B = SR g
(ElZE9m ) 0.450 m3 = 0. 450
Ay )E 1 | HE = A LS
(FEHI) 11.010 m3 = 11.010
Ay )E 2 |EiE = WEHIZE2E LA
(HEHI) 2.640 m3 = 2.640
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEES | 14 | TIEEW |G 150H2KEIE - rES | 05 | J—+&#  [co#zRDP=800
JEFE R IEIN il B Al 15l / it B BN
RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
6.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
0.918 m3 = 0.600 * 0.510 * (3.000 + 0.000 + 0.000 + 0.000)
I 2 |FiE = (GRHIE X JBA - B X (ELERE + MEER)) + (REIE X A X (RIFIEE + RAEER))
0.444 m3 = ((0.600 * 0.250 — 0.002) * (3.000 + 0.000)) + (0.600 * 0.250 * (0.000 + 0.000))
IR 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.000)
AR IH 1| HE = AR X (RTER + RIER + 3L R + ML R)
1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.000)
AT IH 2 [EE = EHE X (ETER + RIEER + AIEER + MEER)
1.800 m2 = 0.600 * (3.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = AR X JEA X (ETER + RIBEE + RIBLER + EER)
0.558 m3 = 0.600 * 0.310 * (3.000 + 0.000 + 0.000 + 0.000)
FEHIH D R L 2 |EdE = (ARHNE X JEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.462 m3 = ((0.600 * 0.260 — 0.002) * 3.000) + (0.600 * 0.260 * (0.000 + 0.000 + 0.000))
BETHORL 1 | HE = AR X JEA X (ETER + RIBEE + RIBLER + MEER)
0.090 m3 = 0.600 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |EEEEIEE = BEE X BA X (ETIER + RIIERE + RIIEE + MEIER)
(Bl ZE9mA]) 0.270 m3 = 0.600 * 0.150 * (3.000 + 0.000 + 0.000 + 0.000)
Ay E 1 [F&E = SEEEA S LR
(ElZEHmA]) 0.270 m3 = 0.270
Ay )E 1 |EE = SR LS
(HEHI) 0.918 m3 = 0.918
Ay )E 2 | = WEHIZE2E LA
(FEH) 0.444 m3 = 0. 444
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T T % E 8 E E (fF B % )
HErEEHEES ;09003300
IBES | 14 | xT@4% |s15082kxE1SH - &S | 06 | I—F&#H [CoAELNEDP=800
JEFEp & |t 3 L 151 / it 3 =
SR 1 [F&&E = HHE X (ETER + RIFER + AIBER + MEER)
4,500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
£zl 1 |[F&E = WEE X BEA X (ETIERE + RIIEE + RIIERE + MEIER)
3.420 m3 = 1.500 * 0.760 * (3.000 + 0.000 + 0.000 + 0.000)
HEHI 2 |FHE = (GREIE X BEA - EmfE) X (ETEE + EER)) + GRHIE X B4 X (RIEE + BIER))
1.119 m3 = ((1.500 * 0.250 - 0.002) * (3.000 + 0.000)) + (1.500 * 0.250 * (0.000 + 0.000))
ZEE IR 1 |%E = WEE X (ETIER + RIERE + RIIERE + MEIER)
4,500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
AR IR 1 |FE = AR X (ELER + fiEER + iR + MEER)
4,500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
ARG IR 2 |HE = wHlE X (RTER + RIEER + BUFER + MEER)
4,500 m2 = 1.500 * (3.000 + 0.000 + 0.000 + 0.000)
PEHIHE O R L 1 |FE = WHE X A X (TR + RER + REER + fEER)
1.395 m3 = 1.500 * 0.310 * (3.000 + 0.000 + 0.000 + 0.000)
PEHIHE O B L 2 |HE = ((EREIE X BA - FmfE) X LTHER) + (RHAE X BEA X (RIFEE + RIIEE + MEIER))
1.164 m3 = ((1.500 * 0.260 — 0.002) * 3.000) + (1.500 * 0.260 * (0.000 + 0.000 + 0.000))
BETHDREL 1 |[FE = WHE X BEA X (ETHEER + RER + REER + fEER)
0.900 m3 = 1.500 * 0.200 * (3.000 + 0.000 + 0.000 + 0.000)
5% AL 1 |[FEREEE = WEE X B X (ETIERE + RIEE + RIIEE + MEIER)
(Bl ZEHEHI) 0.225 m3 = 1.500 * 0.050 * (3.000 + 0.000 + 0.000 + 0.000)
o Uy ] 1 |FE = ERAEE L=
(Bl EEHEH) 0.225 m3 = 0.225
5% AL 1 |[%&E = wHIFELE L E
(HEH!) 3.420 m3 = 3.420
o Uy ] 2 |HE = wHIEE &
(HEH) 1.119 m3 = 1.119
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IBES | 14 | xT@4% |s15082kxE1SH - &S [ 07 | IW—F&8% [BERET
JEFE R IEIN il B Al 15l / it B BN
RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
4.000 m = ((4.000 + 0.000 + 0.000 + 0.000) + ((0.500 — 0.500) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
2.000 m2 = 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
1.500 m3 = 0.500 * 0.750 * (4.000 + 0.000 + 0.000 + 0.000)
I 2 |FdE = HBHIE X JBEA X (RTIER + RIPEE + AIEE + MEER)
0.600 m3 = 0.500 * 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
IR 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
2.000 m2 = 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
AR IH 1| HE = AR X (RTER + RIER + 3L R + ML R)
2.000 m2 = 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
AT IH 2 [EE = EHE X (ETER + RIEER + AIEER + MEER)
2.000 m2 = 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | HdE = AR X JEAR X (ETER + RIBEE + RIBLER + MEER)
1.000 m3 = 0.500 * 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |EEEEIEE = BEE X BA X (ETIER + RIIERE + RIIEE + MEIER)
CEESALEI) 0.300 m3 = 0.500 * 0.150 * (4.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |[FE = SEEEAE U LR
(ElZEHmA]) 0.300 m3 = 0.300
Ay )E 1 | = SR LS
(HEHI) 1.500 m3 = 1.500
Ay E 2 |FiE = WEHIZE2E L&
(FEHI) 0.600 m3 = 0.600
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T T & 2 %+ B & (8 & % )
BEHEEEES . 09003300[ L HFEHE]
[ T@E= [ 15 | I@E% [6500AKREIE [L—+&E [ ot | IW—r&#H [BFE#HEDP=800
& fi EHEEEEE A
S 1 [B = IR X A X (ELIERE + RRER + ARER + MELER)
0.281 m3 = 0.306 * 0.460 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 B = (GREIIRE X EX - B X (ELERE + WELER) + GBEIIE X B4 X (RIFILE + ARLER))
0.271 m3 = ((0.306 * 0.450 — 0.002) * (2.000 + 0.000)) + (0.306 * 0.450 * (0.000 + 0.000))
A1 H 1 [k = mlE X (ETHEE + RIEE + AREE + HEER)
0.612 m2 = 0.306 * (2.000 + 0.000 + 0.000 + 0.000)
e 1 [ = BEIR X B X (ELEE + 2FER + ARER + MELER)
0.275 m3 = 0.306 * 0.450 * (2.000 + 0.000 + 0.000 + 0.000)
JEEIHLD R L 2 B = (GRNIIR X EH - B X ELIER) + GENIIE X A X (RIEEE + ARER + MEER))
0.155 m3 = ((0.306 * 0.260 — 0.002) * 2.000) + (0.306 * 0.260 * (0.000 + 0.000 + 0.000))
EETHDRE L 1 | = BEIE X B X (ELEE + 2FER + ARER + MELER)
0.030 m3 = 0.306 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
Ry 1 [k = A UE LR
(B H) 0.281 m3 = 0.281
ey 2 |EE = mEEJE R
(B E) 0.271 m3 = 0.271
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T I % E H++ 8 &8 (& # % )
BEHEEEES ;- 09003300[ 4 HEEEE]
| TEEE | 15 | IBEWH [¢5002AKEISE [L—+&E [ 02 | IW—r&#H [wHEEDP=800
& R B i m A m S E m sk
Hi5 1 1 | = @EIE X B X (ELIER + REE + RIEIER + MEER)
2.058 m3 = 0.750 * 0.610 * (4.500 + 0.000 + 0.000 + 0.000)
] 2 B = (B X Bx - BEi) X (FLEE + MEEER) + (BAIE X Bh X (RIEER + AEEE))
1.509 m3 = ((0.750 * 0.450 — 0.002) * (4.500 + 0.000)) + (0.750 * 0.450 * (0.000 + 0.000))
A I 1 [ = EE X (ETEE + [RER + RIEE + MEER)
3.375 m2 = 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
SR B L 1 |5 = EEIE X BA X (ELIER + REEE + ARBIER + MELEE)
1.518 m3 = 0.750 * 0.450 * (4.500 + 0.000 + 0.000 + 0.000)
SR B L 2 [ = (GEEIE x B2 - BEi) x ELIER) + GBAIIE X BAh X (RIEER + AEE + MEER))
0.868 m3 = ((0.750 * 0.260 — 0.002) * 4.500) + (0.750 * 0.260 * (0.000 + 0.000 + 0.000))
BEETHOEREL 1 |5 = EEIE X BA X (ELIER + REEE + RBIER + MELEE)
0.675 m3 = 0.750 * 0.200 * (4.500 + 0.000 + 0.000 + 0.000)
R 1 |k = REE LS
(HEHED 2.058 m3 = 2.058
A o [ - mEIEE &
(B E) 1.509 m3 = 1.509
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T T % E 8 E E (fF B % )
RETEEEES 09003300
TEEE | 26 | TIEEW [BRIAEREIS [L—-+rES | o1 | J—h4&#  [EEFIEOP=1700
JE AR G . A S - v
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
3.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.750 - 0.750) * 0.000)) * 1.000
b Bl 1 |%kE = WHE X (ETER + RER + it R + WMEIER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
1.237 m3 = 0.750 % 0.550 * (3.000 + 0.000 + 0.000 + 0.000)
A 2 |FE = (UREIE X JBEH - FHEf) X (ETEE + MEIER)) + (RHIE X EH X (RIEEE + RIEIEE))
3.000 m3 = ((0.750 * 1.360 — 0.020) * (3.000 + 0.000)) + (0.750 * 1.360 * (0.000 + 0.000))
ELE1E IR 1 & = HIE X (TR + R R + RER + MEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
IR 2 |HE = EHlE X (RIER + RIERE + 3UEE + MEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
ELE1E IR 3 |HE = BHIE X (RTER + RER + YRR + WEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
AR A 1 [FE = HIE X (ETIER + RER + RER + MEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
BARIE IR 2 |HE = R X (RI3ER + RIER + 3UBEER + WEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
HHEIFR DR L 1 |%kdE = (GEHIE X EH - Fmf) X HTIER) + GBHIRE X Ei X (REE + RIEIEE + MEER))
2.550 m3 = ((0.750 * 1.160 - 0.020) * 3.000) + (0.750 % 1.160 * (0.000 + 0.000 + 0.000))
FETHOEL 1 & = HIE X EA X (ETIER + RIER + RER + MEER)
0.450 m3 = 0.750 * 0.200 * (3.000 + 0.000 + 0.000 + 0.000)
P LAy 1 |G EIAE = AR X EA X (ETEE + R/IBIEE + RIBEE + HEER)
(Bt 1) 0.337 m3 = 0.750 * 0.150 * (3.000 + 0.000 + 0.000 + 0.000)
Bk e 1 & = GiERHE S -8
(B2 1) 0.337 m3 = 0. 337
B e 1 |FE = WHE e &
() 1.237 m3 = 1.237
Bk e 2 |HE = mElEE &
(€Z1E0) 3.000 m3 = 3.000
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T T % E 8 E E (fF B % )
RETEEEES 09003300
TEEE | 16 | IEEWM |[HHEIE [\-+ES | oo | J—+&%  [Ei#DP=1200(GW)
JE AR G R - - -
ESEn 1 |HE = (TR + RIBVER + BYER + WEER) + (GEFEAIE - SlmHiE) X HEFImETTE)) X Bk
20.000 m = ((20.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
Sl 1 |%kE = WHE X (ETER + RER + it R + WMEIER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
5.100 m3 = 0.300 * 0.850 * (20.000 + 0.000 + 0.000 + 0.000)
I 2 |HE = HHIE X EH X (RTHEER + RIEEE + RIEERE + EER)
1.800 m3 = 0.300 * 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
ELE1E IR 1 & = HIE X (TR + R R + RER + MEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
IR 2 |HE = EHlE X (RIER + RIERE + 3UEE + MEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
ELE1E IR 3 |HE = BHIE X (RTER + RER + YRR + WEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
AR A 1 [FE = HIE X (ETIER + RER + RER + MEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
BARIE IR 2 |HE = R X (RI3ER + RIER + 3UBEER + WEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
HHEIFR DR L 1 |%kdE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
1.800 m3 = 0.300 * 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
PREIBEOE L 2 HE = R X B X (ETIER + RiER + Rk + MEER)
1.800 m3 = 0.300 * 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
P LAy 1 |G EIAE = AR X EA X (ETEE + R/IBIEE + RIBEE + HEER)
(Bt 1) 0.900 m3 = 0.300 * 0.150 * (20.000 + 0.000 + 0.000 + 0.000)
Bk e 1 & = GiERHE S -8
(Gl A 0.900 m3 = 0.900
B e 1 |FE = WHE e &
() 5.100 m3 = 5.100
Bk e 2 |FE = mHlEE &
(A1) 1.800 m3 = 1.800
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+T T &% E ft E & (& B % )
RETEEEES 09003300
IiEES | 16 | TESW [#HeEIE L—+&E | 02 | JL—F&% [Bi#ESHEDP=1200
JE AR G . A S - v
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
4.000 m = ((4.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
ShLEHRHI 1 |%kE = WHE X (ETER + RER + it R + WMEIER)
1.200 m2 = 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
0.540 m3 = 0.300 * 0.450 * (4.000 + 0.000 + 0.000 + 0.000)
A 2 |HE = HHIE X EH X (RTHEER + RIEEE + RIEERE + EER)
0.972 m3 = 0.300 * 0.810 * (4.000 + 0.000 + 0.000 + 0.000)
IR 1 & = HIE X (TR + R R + RER + MEER)
1.200 m2 = 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
AR 1A 1 [FE = HIE X (TR + RER + RTER + MEER)
1.200 m2 = 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
PREIBEOE L 1 & = HIE X EA X (TR + RIER + JTER + MEER)
0.972 m3 = 0.300 * 0.810 * (4.000 + 0.000 + 0.000 + 0.000)
HHEIFR D R L 2 |HhE = HHIE X EH X (RTHEER + REEE + RIEERE + EER)
0.360 m3 = 0.300 * 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
iy fE 1 |EEEERSE = R X BEA X (LT3R + {EEE + 3UREE + MEIERE)
(2w 0.048 m3 = 0.300 * 0.040 * (4.000 + 0.000 + 0.000 + 0.000)
B e 1 |FE = GERAEE R
(Bt 0.048 m3 = 0. 048
By e 1 |FE = WHlE e &
(hmi) 0.540 m3 = 0. 540
B e 2 |HE = mHlEE &
() 0.972 m3 = 0.972
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+T T &% E ft E & (& B % )
RETEEEES 09003300
IBES | 16 | T@E4#% |[#eeIs - &S | 03 | J—+4&% [Bi#EDP=1200(G)
JE AR G . A S - v
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
1.000 m = ((0.500 + 0.000 + 0.000 + 0.000) + ((0.600 — 0.600) * 0.000)) * 2.000
ShLEHRHI 1 |%kE = WHE X (ETER + RER + it R + WMEIER)
0.300 m2 = 0.600 * (0.500 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
0.255 m3 = 0.600 * 0.850 * (0.500 + 0.000 + 0.000 + 0.000)
A 2 |HE = HHIE X EH X (RTHEER + RIEEE + RIEERE + EER)
0.090 m3 = 0.600 * 0.300 * (0.500 + 0.000 + 0.000 + 0.000)
IR 1 & = HIE X (TR + R R + RER + MEER)
0.300 m2 = 0.600 * (0.500 + 0.000 + 0.000 + 0.000)
IR 2 |HE = EHlE X (RIER + RIERE + 3UEE + MEER)
0.300 m2 = 0.600 * (0.500 + 0.000 + 0.000 + 0.000)
ELE1E IR 3 |HE = BHIE X (RTER + RER + YRR + WEER)
0.300 m2 = 0.600 * (0.500 + 0.000 + 0.000 + 0.000)
AR A 1 [FE = HIE X (ETIER + RER + RER + MEER)
0.300 m2 = 0.600 * (0.500 + 0.000 + 0.000 + 0.000)
BARIE IR 2 |HE = R X (RI3ER + RIER + 3UBEER + WEER)
0.300 m2 = 0.600 * (0.500 + 0.000 + 0.000 + 0.000)
HHEIFR DR L 1 |%kdE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
0.090 m3 = 0.600 * 0.300 * (0.500 + 0.000 + 0.000 + 0.000)
PREIBEOE L 2 HE = R X B X (ETIER + RiER + Rk + MEER)
0.090 m3 = 0.600 * 0.300 * (0.500 + 0.000 + 0.000 + 0.000)
P LAy 1 |G EIAE = AR X EA X (ETEE + R/IBIEE + RIBEE + HEER)
(Bt 1) 0.045 m3 = 0.600 * 0.150 * (0.500 + 0.000 + 0.000 + 0.000)
Bk e 1 & = GiERHE S -8
(iR 0.045 m3 = 0.045
B e 1 |FE = WHE e &
() 0.255 m3 = 0. 255
W iy 2 |FE = mHlEE &
(hmi) 0.090 m3 = 0.090
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T I % E H E & (8 &8 % )
WEHESEES . 09003300[ L MR E]
| IEES | 16 | TEZ% |#twers - &S | 04 | IL—F&% |E#hATIEC(GW)
& i) FH T A
i 1) 1 [ = NS X B X (ETHER + RREE + RIEE + BELEE)
2.250 m3 = 0.500 * 1.000 * (4.500 + 0.000 + 0.000 + 0.000)
A IH 1 & = mEE X Bh X (TR « 2REE + ABEE + BELE)
0.225 m3 = 0.500 * 0.100 * (4.500 + 0.000 + 0.000 + 0.000)
A H 1 R = EEE X (B TEE + R/IBER + RIEE + MEEE)
2.250 m2 = 0.500 * (4.500 + 0.000 + 0.000 + 0.000)
HEHHD 5 L 1 & = mEE X Bh X (TR « RREE + ABEE + BELEE)
1.687 m3 = 0.500 * 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
7% sy e 1 [%E = mup s L&
(B 1) 2.250 m3 = 2.250
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+T T &% E ft E & (& B % )
REEEEES . 09003300 [ L4)FKRETE]
IBES | 16 | T@E4#% |[#eeIs - &S | 05 | IL—F&% |EthAtIECOGHRHREL)
JE AR G R - - -
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
2.000 m = ((1.000 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 2.000
RSl 1 |%kdE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
0.100 m3 = 1.000 * 0.100 * (1.000 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
0.900 m3 = 1.000 * 0.900 * (1.000 + 0.000 + 0.000 + 0.000)
EEEE R 1 |%kiE = WHE X JBA X (RTER + RIEEERE + RIEEE + MEERE)
0.100 m3 = 1.000 * 0.100 * (1.000 + 0.000 + 0.000 + 0.000)
BARIE IR 1 & = HIE X (TR + R R + RER + MEER)
1.000 m2 = 1.000 * (1.000 + 0.000 + 0.000 + 0.000)
HHEIFR D R L 1 |%kiE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
0.750 m3 = 1.000 * 0.750 * (1.000 + 0.000 + 0.000 + 0.000)
By e 1 & = GhiERHE S 8
(B 0.100 m3 = 0.100
B e 1 |FE = WHE e L&
() 0.900 m3 = 0.900
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
TEES | 171 | I#@EE% 9 100EBKEAETIS [\-r&S [ ot | J—r&#  [coii#zRDP=400
JEFE R IEIN il B Al 15l / it B BN
RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
5.000 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((0.312 — 0.312) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
1.560 m2 = 0.312 * (5.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
0.561 m3 = 0.312 * 0.360 * (5.000 + 0.000 + 0.000 + 0.000)
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
1.560 m2 = 0.312 * (5.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
1.560 m2 = 0.312 * (5.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = (UBRANE X B4 - FEfE) X LILER) + (BAIE X JEA X (RIBERE + RIEEE + MELER))
0.298 m3 = ((0.312 * 0.220 — 0.009) * 5.000) + (0.312 % 0.220 * (0.000 + 0.000 + 0.000))
Ay )E 1 |SERAIE: = AR X B4 X (ETHEE + RIEE + RIBEE + WEER)
(ElZE9m ) 0.234 m3 = 0.312 * 0.150 * (5.000 + 0.000 + 0.000 + 0.000)
Ay E 1| HoE = GERAIE S
(GhAEHRH) 0.234 m3 = 0.234
Ay )E 1 |FE = wHEIELE
(HEHI) 0.561 m3 = 0.561
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T I % E H E & (8 &8 % )
HErEEHEES ;09003300
IEEE | 17 | TIEEW S 100RBAKEXREIS - &S | 02 | J—+8#  [CodiRRE#AEDP=400
JEFEp & |t 3 L 151 / it 3 =
SR 1 [F&&E = HHE X (ETER + RIFER + AIBER + MEER)
1.560 m2 = 0.312 * (5.000 + 0.000 + 0.000 + 0.000)
£zl 1 |[F&E = WEE X BEA X (ETIERE + RIIEE + RIIERE + MEIER)
0.468 m3 = 0.312 * 0.300 * (5.000 + 0.000 + 0.000 + 0.000)
HEHI 2 |FHE = (GREIE X BEA - EmfE) X (ETEE + EER)) + GRHIE X B4 X (RIEE + BIER))
0.204 m3 = ((0.312 * 0.160 — 0.009) * (5.000 + 0.000)) + (0.312 * 0.160 * (0.000 + 0.000))
ZEE IR 1 |%E = WEE X (ETIER + RIERE + RIIERE + MEIER)
1.560 m2 = 0.312 * (5.000 + 0.000 + 0.000 + 0.000)
AR IR 1 |FE = AR X (ELER + fiEER + iR + MEER)
1.560 m2 = 0.312 * (5.000 + 0.000 + 0.000 + 0.000)
ARG IR 2 |HE = wHlE X (RTER + RIEER + BUFER + MEER)
1.560 m2 = 0.312 * (5.000 + 0.000 + 0.000 + 0.000)
PEHIHE O R L 1 |FE = WHE X A X (TR + RER + REER + fEER)
0.343 m3 = 0.312 % 0.220 * (5.000 + 0.000 + 0.000 + 0.000)
5% AL 1 |[FEREEE = WEE X BEAi X (ETIERE + RIEE + RIIEE + MEIER)
(EliZEHEHI) 0.078 m3 = 0.312 * 0.050 * (5.000 + 0.000 + 0.000 + 0.000)
o Uy ] 1 |FE = iERAEUE L=
(Bl EEHEH) 0.078 m3 = 0.078
B AL 1 [%&E = wHIFELE L&
(HEH!) 0.468 m3 = 0. 468
o Uy ] 2 |%E = EHISRE R
(HEH!) 0.204 m3 = 0.204
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEES | 18 | IEEW |o50REBKEREIE - rES | or | —re#  |EE#AEEDP=1000
JEFE R IEIN il B Al 15l / it B BN
RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
12.000 m = ((12.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
3.276 m3 = 0.300 * 0.910 * (12.000 + 0.000 + 0.000 + 0.000)
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
AR IH 2 |EdE = HEHIE X (ETMER + RIEE + AEERE + WMEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L L = (GRHIE X 2 - Fmif) X LITIER) + GRHIE X B4 X (RIBEE + 38R + MEIER))
1.272 m3 = ((0.300 * 0.360 — 0.002) * 12.000) + (0.300 * 0.360 * (0.000 + 0.000 + 0.000))
Ay E 1 |&hEHRE R = WEIE X JBEA X (ELIER + RIIEE + AEERE + MEER)
(ElZEHmH) 0.540 m3 = 0.300 * 0.150 * (12.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 | = SR g
CEESALEI) 0.540 m3 = 0.540
Ay )E 1| FE = A LS b
(FEHI) 3.276 m3 = 3.276
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEES | 18 | IEEW |o50REBKEREIE - rES | o2 | —re#  |EE#EDP=1000
JEFE R IEIN il B Al 15l / it B BN
(RSl 1| BE = iR X (EIER + fEER + BUEER + MEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
I 1 | HE = AR X JEAR X (ETER + RIBEE + RIBLER + EER)
2.340 m3 = 0.300 * 0.650 * (12.000 + 0.000 + 0.000 + 0.000)
JHE I 2 |EdE = (ARANE X JEH - B X (LLEE + WEER)) + (RElE X JEH X (RIIEE + REE))
1.272 m3 = ((0.300 * 0.360 — 0.002) * (12.000 + 0.000)) + (0.300 * 0.360 * (0.000 + 0.000))
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
IR 2 [EE = EHE X (ETER + RIEER + WAIEER + MEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
EiEIE I 3 |EdE = JEHIE X (ETIER + RIEE + AEER + WMEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |EE = EHE X (ETIER + RIEER + AIEER + MEBER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
AR IH 2 |EdE = HEHIE X (ETIER + RIEE + AEERE + WMEER)
3.600 m2 = 0.300 * (12.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 i = JEAE X JEAR X (RTER + RIER + 3L R + fEIER)
1.296 m3 = 0.300 * 0.360 * (12.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |&hEHRE R = WElE X JBEA X (ETIER + RIIEE + AERE + MELER)
(ElZEHmA]) 0.180 m3 = 0.300 * 0.050 * (12.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 i = SR g
(Bl 2E9mA) 0.180 m3 = 0.180
Ay E 1 | HE = A LS
(FEHI) 2.340 m3 = 2.340
Ay )E 2 |HE = wHIEE R
(HEHI) 1.272 m3 = 1.272

31

EHHARKER



+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEES | 18 | TIEEW |450RBAKEXREIS - &S | 03 | J—h&#  [HE#HEDP=1000
JEFE R IEIN il B Al 15l / it B BN
RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
2.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
0.612 m3 = 0.300 * 1.020 * (2.000 + 0.000 + 0.000 + 0.000)
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = (UBRANE X B4 - FEfE) X LILER) + (BAIE X JEA X (RIBERE + RIEEE + MELER))
0.518 m3 = ((0.300 * 0.870 — 0.002) * 2.000) + (0.300 * 0.870 * (0.000 + 0.000 + 0.000))
Ay )E 1 |SERAIE: = AR X B4 X (ETHEE + RIEE + RIBEE + WEER)
(ElZE9m ) 0.024 m3 = 0.300 * 0.040 * (2.000 + 0.000 + 0.000 + 0.000)
Ay E 1| HoE = GERAIE S
(GhAEHRH) 0.024 m3 = 0.024
Ay )E 1 |FE = wHEIELE
(HEHI) 0.612 m3 = 0.612
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T T % E 8 E E (fF B % )
BEEEEES ;09003300
IEES | 18 | TIEEW |450RBAKEXREIS - rES | 04 | J—h4&F  [HiE#ZEDP=1000
Ji& f | FH A
EES 1[5 = WEE X (ETER + AEE + RlEE + MEER)
0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
] 1 [BE = WEE X Eh X (LTIHER + RAUER + AMIEE + MEER)
0.090 m3 = 0.300 * 0.150 * (2.000 + 0.000 + 0.000 + 0.000)
] 2 [ = (GRBE X 274 - EEf) X (DTERE +« WEUEE)) + GRNE X E2 X RILE + RURITE))
0.518 m3 = ((0.300 * 0.870 — 0.002) * (2.000 + 0.000)) + (0.300 * 0.870 * (0.000 + 0.000))
SRR 1 [ = WEIE X (ETEE + RRERE + RIRLE + MELE)
0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)
s 1 [ = mAE X (ETER + MEE + RilEE + MEER)

0.600 m2 = 0.300 * (2.000 + 0.000 + 0.000 + 0.000)

EHIHE DR L 1 |FdE = EHE X ES X (ETiER + RiEEk + AURIER + R ER)

0.522 m3 = 0.300 * 0.870 * (2.000 + 0.000 + 0.000 + 0.000)

Ay )E 1 |EEEEIEE = BEE X BEA X (ETIER + RIIERE + RIIEE + MEIER)
(ElZE9m ) 0.024 m3 = 0.300 * 0.040 * (2.000 + 0.000 + 0.000 + 0.000)
Ay E 1 |[FE = SEEEAEUE LR
(ElZEHmH) 0.024 m3 = 0.024
Ay )E 1 |FE = wHEIELE

(HEHI) 0.090 m3 = 0.090
Ay )E 2 |FiE = WEHIZE2E L&

(FEHI) 0.518 m3 = 0.518
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
TEES | 18 | THEH [ssoRBAKERETE [b—t&S [ 05 | N—F&F [EAFBDP=600
JEFE R IEIN il B Al 15l / it B BN
RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
6.000 m = ((6.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
1.098 m3 = 0.300 * 0.610 * (6.000 + 0.000 + 0.000 + 0.000)
EiEIE I 1| = AR X (ETER + KRR + sUiER + L R)
1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
AT IH 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = (UBRANE X B4 - FEfE) X LILER) + (BAIE X JEA X (RIBERE + RIEEE + MELER))
0.636 m3 = ((0.300 * 0.360 — 0.002) * 6.000) + (0.300 * 0.360 * (0.000 + 0.000 + 0.000))
Ay )E 1 |EEEEIEE = BEE X BEA X (ETIER + RIIERE + RIIEE + MEIER)
(ElZE9m ) 0.090 m3 = 0.300 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
Ay E 1 |[FE = SEEEAEUE LR
(ElZEHmH) 0.090 m3 = 0.090
Ay )E 1 | = SR LE
(HEHI) 1.098 m3 = 1.098
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T T & 2 %+ B & (8 & % )
SBEEEEES . 09003300
TEEE | 18 | TEEW [450RBAEREIS [L—+&E [ o6 | JL—F&% [EA#ZEDP=600
Ji& ) EHEEE A
R 1 [%E = WEE X (ETHER + RER + AER + MEER)
1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
] 1 %R = EIE X B4 X (ELER + RIBER + AMER + MEER)
0.450 m3 = 0.300 * 0.250 * (6.000 + 0.000 + 0.000 + 0.000)
SN 2 B = (GEEIIRE X Er - B X (ELER + WEER) + GBEIIE X B4 X (RIFILEE + AIRER))
0.636 m3 = ((0.300 * 0.360 — 0.002) * (6.000 + 0.000)) + (0.300 * 0.360 * (0.000 + 0.000))
ML IE 1 [ = BEIE X (ETIEE + RIFLE + AREE + MELER)
1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)
AR 1 H 1 [ = R X (ETIEE + ABIERE + ARIER + WMEER)

1.800 m2 = 0.300 * (6.000 + 0.000 + 0.000 + 0.000)

EHIHE DR L 1 |FdE = EHE X ES X (ETiER + RiEEk + AURIER + R ER)

0.648 m3 = 0.300 * 0.360 * (6.000 + 0.000 + 0.000 + 0.000)

Ay )E 1 |EEEEIEE = BEE X BEA X (ETIER + RIIERE + RIIEE + MEIER)
(Bl EHEHI) 0.090 m3 = 0.300 * 0.050 * (6.000 + 0.000 + 0.000 + 0.000)
Ay E 1 |[FE = SEEEAEUE LR
(ElZEHmH) 0.090 m3 = 0.090
Ay )E 1 |FE = wHEIELE

(HEHI) 0.450 m3 = 0. 450
Ay )E 2 |FiE = WEHIZE2E L&

(FEHI) 0.636 m3 = 0.636
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T I % E &t ER E (& & % )
B EEEES . 09003300 L EEEE]
[ T@E&S [ 19 | THE% |Q4RBKERETSE [L-+&E [ ot [ J—t&% [BFIELIEDP=800
Jid 3] FH -
JEHY 1 [BE = (GEHIE X B2 - B X (ETIER + fEEER)) + GBHIE X JEA X (RIBIER + SURIER))
3.568 m3 = ((0.750 * 1.060 — 0.002) * (4.500 + 0.000)) + (0.750 * 1.060 * (0.000 + 0.000))
FARE R 1 [ = EEE X (ETIER + REER + TR + #fSER)
3.375 m2 = 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
WHIEO R L 1B = (GEHIE X ER - Fmk) X EIER) + GEHIE X B2 X RIBEE + RITER + fEER))
2.387 m3 = ((0.750 * 0.710 — 0.002) * 4.500) + (0.750 * 0.710 * (0.000 + 0.000 + 0.000))
BETHDREL 1 [ = \EE X ER X (ETIER + RIER + RIER + MEER)
0.675 m3 = 0.750 * 0.200 * (4.500 + 0.000 + 0.000 + 0.000)
FE AT T 1 [ = BHEUE LR
(A1) 3.568 m3 = 3.568
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+T T &% E ft E & (& B % )
REEEEES . 09003300 [ L4)FKRETE]
IBES | 20 | T@4#m |[FHHGKEIS - &S | 00 | IL—F&%# |E#hAEIEC(GW)
JE AR G . A S - v
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
4.500 m = ((4.500 + 0.000 + 0.000 + 0.000) + ((0.500 — 0.500) * 0.000)) * 1.000
RSl 1 |%kdE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
0.225 m3 = 0.500 * 0.100 * (4.500 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
2.025 m3 = 0.500 * 0.900 * (4.500 + 0.000 + 0.000 + 0.000)
AR E IH 1 |%dE = WHE X (ETER + REER + it R + WMEIER)
2.250 m2 = 0.500 * (4.500 + 0.000 + 0.000 + 0.000)
PREIBEOE L 1 & = BHIE X EA X (TR + RIER + RTER + MEER)
1.912 m3 = 0.500 * 0.850 * (4.500 + 0.000 + 0.000 + 0.000)
B e 1 |[FE = GERAEE R
(Bt 1) 0.225 m3 = 0.225
By e 1 |FE = WHlE e L&
(A 2.025 m3 = 2.025
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+T T &% E ft E & (& B % )
REEEEES . 09003300 [ L4)FKRETE]
IBES | 20 | T@4#m |[FHHGKEIS - &S | 02 | IL—+&%# |E#hAIECOW)
JE AR G R - - -
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
18.000 m = ((9.000 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 2.000
Sl 1 |%kdE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
0.900 m3 = 1.000 * 0.100 * (9.000 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
8.100 m3 = 1.000 * 0.900 * (9.000 + 0.000 + 0.000 + 0.000)
AR 1A 1 |%dE = WHE X (ETER + REER + it R + WMEIER)
9.000 m2 = 1.000 * (9.000 + 0.000 + 0.000 + 0.000)
PREIBEOE L 1 & = BHIE X EA X (TR + RIER + RTER + MEER)
7.650 m3 = 1.000 * 0.850 * (9.000 + 0.000 + 0.000 + 0.000)
B e 1 |[FE = GERAEE R
(Bt 1) 0.900 m3 = 0.900
By e 1 |FE = WHlE e L&
(A1) 8.100 m3 = 8.100
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
TEEE | 21 [ IEEWm [o150kEAEIS v-r&S [ o [ n—r&% [E&#HEDP=1200D
JEFE R IEIN il B Al 15l / it B BN
RO 1 = (BTER + RIEVIER + 3URIER + WL R) + (GEFRANE - SmiEaig) X fFRE&EIT ) ) X Bialkk
150.900 m = ((150.900 + 0.000 + 0.000 + 0.000) + ((0.490 - 0.490) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
73.941 m2 = 0.490 * (150.900 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
72.462 m3 = 0.490 * 0.980 * (150.900 + 0.000 + 0.000 + 0.000)
I 2 |FiE = (GRHIE X JBA - B X (ELERE + MEER)) + (REIE X A X (RIFIEE + RAEER))
19.164 m3 = ((0.490 * 0.300 — 0.020) * (150.900 + 0.000)) + (0.490 * 0.300 * (0.000 + 0.000))
IR 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
73.941 m2 = 0.490 * (150.900 + 0.000 + 0.000 + 0.000)
el 2 |EdE = HEHIE X (ETMER + RIEE + AEERE + WMEER)
73.941 m2 = 0.490 * (150.900 + 0.000 + 0.000 + 0.000)
R 3 [EE = iR X (EIER + RIBER + SUBER + #HEER)
73.941 m2 = 0.490 * (150.900 + 0.000 + 0.000 + 0.000)
HRARE IH 1| = AR X (RTER + KRR + sUiER + fEIER)
73.941 m2 = 0.490 * (150.900 + 0.000 + 0.000 + 0.000)
AT IH 2 [EE = EHE X (ETER + RIEER + AIEER + MEER)
73.941 m2 = 0.490 * (150.900 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = AR X JEAR X (ETER + RIBEE + RIBLER + MEER)
22.182 m3 = 0.490 * 0.300 * (150.900 + 0.000 + 0.000 + 0.000)
FEHIH D R L 2 |EdE = (ARHNE X JBEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
24.325 m3 = ((0.490 * 0.380 — 0.025) * 150.900) + (0.490 * 0.380 * (0.000 + 0.000 + 0.000))
BETHORL 1 | = AR X JEAR X (EIER + RIBEE + RIBER + MEER)
3.697 m3 = 0.490 * 0.050 * (150.900 + 0.000 + 0.000 + 0.000)
Ay )E 1 |SERAIE: = AR X B4 X (ETHEE + RIEE + RIBEE + MEER)
(ElZE9m ) 11.091 m3 = 0.490 * 0.150 * (150.900 + 0.000 + 0.000 + 0.000)
Ay )E 1| BE = SEEEEE e R
CEES AL 11.091 m3 = 11.091
Ay )E 1 | = JRAEIE LS
(FEH) 72.462 m3 = 72. 462
Ay )E 2 |FiE = WEHIZEE L&
(PR H) 19.164 m3 = 19. 164
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEES | 21 | I@EW  [@150kEAEIE [\-r&S | 02 | —t&%  [B#E#HEDP=1200Q
JEFE R IEIN il B Al 15l / it B BN
RO 1 = (BTER + RIEVIER + 3URIER + WL R) + (GEFRANE - SmiEaig) X fFRE&EIT ) ) X Bialkk
21.000 m = ((21.000 + 0.000 + 0.000 + 0.000) + ((0.417 — 0.417) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
8.757 m2 = 0.417 * (21.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
8.581 m3 = 0.417 * 0.980 * (21.000 + 0.000 + 0.000 + 0.000)
I 2 |FiE = (GRHIE X JBA - B X (ELERE + MEER)) + (REIE X A X (RIFIEE + RAEER))
2.207 m3 = ((0.417 * 0.300 — 0.020) * (21.000 + 0.000)) + (0.417 * 0.300 * (0.000 + 0.000))
IR 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
8.757 m2 = 0.417 * (21.000 + 0.000 + 0.000 + 0.000)
el 2 |EdE = HEHIE X (ETMER + RIEE + AEERE + WMEER)
8.757 m2 = 0.417 * (21.000 + 0.000 + 0.000 + 0.000)
R 3 [EE = iR X (EIER + RIBER + SUBER + #HEER)
8.757 m2 = 0.417 * (21.000 + 0.000 + 0.000 + 0.000)
AR IH 1| = AR X (RTER + KRR + sUiER + fEIER)
8.757 m2 = 0.417 * (21.000 + 0.000 + 0.000 + 0.000)
AT IH 2 [EE = EHE X (ETER + RIEER + AIEER + MEER)
8.757 m2 = 0.417 * (21.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = AR X JEAR X (ETER + RIBEE + RIBLER + MEER)
2.627 m3 = 0.417 * 0.300 * (21.000 + 0.000 + 0.000 + 0.000)
FEHIH D R L 2 |EdE = (ARHNE X JBEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
2.802 m3 = ((0.417 * 0.380 — 0.025) * 21.000) + (0.417 * 0.380 * (0.000 + 0.000 + 0.000))
BETHORL 1 | = AR X JEAR X (EIER + RIBEE + RIBER + MEER)
0.437 m3 = 0.417 * 0.050 * (21.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |SERAIE: = AR X B4 X (ETHEE + RIEE + RIBEE + MEER)
(ElZE9m ) 1.313 m3 = 0.417 * 0.150 * (21.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |FE = SEEEAE U LR
CEES AL 1.313 m3 = 1.313
Ay )E 1 |FE = wHIEIELE
(HEHI) 8.581 m3 = 8.581
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 2.207 m3 = 2.207
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEES | 21 | I@EW  [@150kEAEIE [\-r&S | 03 | —r&#H [EE#ABEDP=1700
JEFE R IEIN il B Al 15l / it B BN
RO 1 = (BTER + RIEVIER + 3URIER + WL R) + (GEFRANE - SmiEaig) X fFRE&EIT ) ) X Bialkk
5.000 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((0.475 — 0.475) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
2.375 m2 = 0.475 * (5.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
2.327 m3 = 0.475 * 0.980 * (5.000 + 0.000 + 0.000 + 0.000)
I 2 |FdE = HBHIE X JBEA X (RTIER + RIPEE + AIEE + MEER)
1.900 m3 = 0.475 * 0.800 * (5.000 + 0.000 + 0.000 + 0.000)
IR 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
2.375 m2 = 0.475 % (5.000 + 0.000 + 0.000 + 0.000)
el 2 |EdE = HEHIE X (ETMER + RIEE + AEERE + WMEER)
2.375 m2 = 0.475 * (5.000 + 0.000 + 0.000 + 0.000)
R 3 [EE = iR X (EIER + RIBER + SUBER + #HEER)
2.375 m2 = 0.475 % (5.000 + 0.000 + 0.000 + 0.000)
AR IH 1| = AR X (RTER + KRR + sUiER + fEIER)
2.375 m2 = 0.475 * (5.000 + 0.000 + 0.000 + 0.000)
AT IH 2 [EE = EHE X (ETER + RIEER + AIEER + MEER)
2.375 m2 = 0.475 % (5.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | = AR X JEAR X (ETER + RIBEE + RIBLER + MEER)
1.900 m3 = 0.475 * 0.800 * (5.000 + 0.000 + 0.000 + 0.000)
FEHIH D R L 2 |EdE = (ARHNE X JBEH - BEf) X BTIER) + (RHIE X JEA X (RIBIEE + ST E + MEER))
0.777 m3 = ((0.475 * 0.380 — 0.025) * 5.000) + (0.475 * 0.380 * (0.000 + 0.000 + 0.000))
BETHORL 1 | = AR X JEAR X (EIER + RIBEE + RIBER + MEER)
0.118 m3 = 0.475 * 0.050 * (5.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |EEEEIEE = BEE X BA X (ETIER + RIIERE + RIIEE + MEIER)
(Bl EEHEH) 0.356 m3 = 0.475 % 0.150 * (5.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |FE = SEEEAE U LR
CEES AL 0.356 m3 = 0.356
Ay )E 1 |FE = wHIEIELE
(HEHI) 2.327 m3 = 2.327
Ay )E 2 |FiE = WEHIZEE L&
(FEHI) 1.900 m3 = 1.900
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+T T &% E ft E & (& B % )
RETEEEES . 09003300
IEss | 2 TELH  |P150KERE TS - rES | o4 | —tewm |EERET
JEFE R IEIN il B Al 15l / it B BN
RO 1 \FE = (TR + RIEVIERE + BBIEERE + EER) + (GEFREIE - SEEEIRE) X FE&EITE)) X GIWEIE
4.000 m = ((4.000 + 0.000 + 0.000 + 0.000) + ((0.500 — 0.500) * 0.000)) * 1.000
(Bl 1 | = AR X (RTER + KRR + st R + R R)
2.000 m2 = 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
JHE I 1 i = JEAE X JEAR X (ETER + RIER + 3L R + fEIER)
1.500 m3 = 0.500 * 0.750 * (4.000 + 0.000 + 0.000 + 0.000)
I 2 |FdE = HBHIE X JBEA X (RTIER + RIPEE + AIEE + MEER)
0.600 m3 = 0.500 * 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
IR 1 |EE = g X (ETIER + RIEER + AIEER + MEER)
2.000 m2 = 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
AR IH 1| HE = AR X (RTER + RIER + 3L R + ML R)
2.000 m2 = 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
AT IH 2 [EE = EHE X (ETER + RIEER + AIEER + MEER)
2.000 m2 = 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
FEEIE D R L 1 | HdE = AR X JEAR X (ETER + RIBEE + RIBLER + MEER)
1.000 m3 = 0.500 * 0.500 * (4.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 |SEREIE: = AR X B4 X (ETEE + RIEE + RIBEE + WEER)
CEESALEI) 0.300 m3 = 0.500 * 0.150 * (4.000 + 0.000 + 0.000 + 0.000)
Ay )E 1 | FoE = SRERAIE S R
(ElZEHmA]) 0.300 m3 = 0.300
Ay )E 1 |FE = wHIEIELE
(HEHI) 1.500 m3 = 1.500
Ay E 2 |FiE = WEHIZE2E L&
(FEHI) 0.600 m3 = 0.600
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T I % E H E & (8 &8 % )
SRETEEEES . 09003300 LFNFEE]
[ TmEEE | 22 | 1@4#% [o40kErEIs [L—+&E [ ot | IW—r&#H [BFE#HEDP=800
J&E Fi | IEM G B L 151 / b B =
etz 1% = |EE X EL X (TR + AREE + RIBCEE + MEEE)
0.270 m3 = 0.294 * 0.460 * (2.000 + 0.000 + 0.000 + 0.000)
el 2 [BE = (GREIE X BEZ - S X (ETIEE + fEER)) + GBHIE X Eh X (RFITEE + RIBLEER))
0.260 m3 = ((0.294 * 0.450 — 0.002) * (2.000 + 0.000)) + (0.294 * 0.450 * (0.000 + 0.000))
HEARIE H 1B = IR X (L TIEE + RIEE + RIBIERE + WMEER)
0.588 m2 = 0.294 * (2.000 + 0.000 + 0.000 + 0.000)
JEHIHE D R L 1% = WEE X BEL X (ETEE + AREE + RIBEE + EEE)
0.264 m3 = 0.294 * 0.450 * (2.000 + 0.000 + 0.000 + 0.000)
EHIHE DR L 2 |[BE = (GREIE X BEZ - S X ETHEE) + (BEIE X E& X (REEE + RIBERE + BRELEER))
0.148 m3 = ((0.294 * 0.260 — 0.002) * 2.000) + (0.294 * 0.260 * (0.000 + 0.000 + 0.000))
BIE THD R L 1% = \EE X BEL X (ETEE + AREE + RIBEE + fEEE)
0.029 m3 = 0.294 * 0.050 * (2.000 + 0.000 + 0.000 + 0.000)
¥+ JE 1 | = IEHE s R
(B H) 0.270 m3 = 0.270
¥+ e 2 |B&E = mHEE LR
(B E) 0.260 m3 = 0.260

43

EHHARKER



T I % E H++ 8 &8 (& # % )
BEHEEEES ;- 09003300[ 4 HEEEE]
| IEEE | 22 | IEEH [o40KkEAREIS [L—+&E [ 02 | IW—r&#H [wHEEDP=800
& R B i m A m S E m sk
Hi5 1 1 | = @EIE X B X (ELIER + REE + RIEIER + MEER)
2.058 m3 = 0.750 * 0.610 * (4.500 + 0.000 + 0.000 + 0.000)
] 2 B = (B X Bx - BEi) X (FLEE + MEEER) + (BAIE X Bh X (RIEER + AEEE))
1.509 m3 = ((0.750 * 0.450 — 0.002) * (4.500 + 0.000)) + (0.750 * 0.450 * (0.000 + 0.000))
A I 1 [ = EE X (ETEE + [RER + RIEE + MEER)
3.375 m2 = 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
SR B L 1 |5 = EEIE X BA X (ELIER + REEE + ARBIER + MELEE)
1.518 m3 = 0.750 * 0.450 * (4.500 + 0.000 + 0.000 + 0.000)
SR B L 2 [ = (GEEIE x B2 - BEi) x ELIER) + GBAIIE X BAh X (RIEER + AEE + MEER))
0.868 m3 = ((0.750 * 0.260 — 0.002) * 4.500) + (0.750 * 0.260 * (0.000 + 0.000 + 0.000))
BEETHOEREL 1 |5 = EEIE X BA X (ELIER + REEE + RBIER + MELEE)
0.675 m3 = 0.750 * 0.200 * (4.500 + 0.000 + 0.000 + 0.000)
R 1 |k = REE LS
(HEHED 2.058 m3 = 2.058
A o [ - mEIEE &
(B E) 1.509 m3 = 1.509
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+T T &% E ft E & (& B % )
RETEEEES 09003300
TiEES | 27 | TEAW ([BRKESFEEIS L—+&E | ot | J—F&% [Bi#EFEDP=1700
JE AR G . A S - v
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
3.000 m = ((3.000 + 0.000 + 0.000 + 0.000) + ((0.750 - 0.750) * 0.000)) * 1.000
ShLEHRHI 1 |%kE = WHE X (ETER + RER + it R + WMEIER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
1.237 m3 = 0.750 * 0.550 * (3.000 + 0.000 + 0.000 + 0.000)
A 2 |FE = (UREIE X JBEH - FHEf) X (ETEE + MEIER)) + (RHIE X EH X (RIEEE + RIEIEE))
3.000 m3 = ((0.750 * 1.360 — 0.020) * (3.000 + 0.000)) + (0.750 * 1.360 * (0.000 + 0.000))
IR 1 & = HIE X (TR + R R + RER + MEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
EEEE I 2 |HE = EHlE X (RIER + RIERE + 3UEE + MEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
IR 3 |HE = BHIE X (RTER + RER + YRR + WEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
AR A 1 [FE = HIE X (ETIER + RER + RER + MEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
BARIE IR 2 |HE = R X (RI3ER + RIER + 3UBEER + WEER)
2.250 m2 = 0.750 * (3.000 + 0.000 + 0.000 + 0.000)
HHEIFR DR L 1 |%kdE = (GEHIE X EH - Fmf) X HTIER) + GBHIRE X Ei X (REE + RIEIEE + MEER))
2.550 m3 = ((0.750 * 1.160 - 0.020) * 3.000) + (0.750 % 1.160 * (0.000 + 0.000 + 0.000))
FETHOEL 1 & = HIE X EA X (ETIER + RIER + RER + MEER)
0.450 m3 = 0.750 * 0.200 * (3.000 + 0.000 + 0.000 + 0.000)
P LAy 1 |G EIAE = AR X EA X (ETEE + R/IBIEE + RIBEE + HEER)
(Bt 1) 0.337 m3 = 0.750 * 0.150 * (3.000 + 0.000 + 0.000 + 0.000)
Bk e 1 & = GiERHE S -8
(iR 0.337 m3 = 0. 337
B e 1 |FE = WHE e &
() 1.237 m3 = 1.237
Bk e 2 |HE = mElEE &
(R 3.000 m3 = 3.000
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+T T &% E ft E & (& B % )
RETEEEES 09003300
TEEE | 23 | IE&W [#HkEIZ [L—-+rES | oo | J—+&%  [Ei#DP=1200(GW)
JE AR G . A S - v
D) 1 |HE = (TR + RIBVER + BYER + WEER) + (GEFEAIE - SlmHiE) X HEFImETTE)) X Bk
20.000 m = ((20.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
ShLEHRHI 1 |%kE = WHE X (ETER + RER + it R + WMEIER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
5.100 m3 = 0.300 * 0.850 * (20.000 + 0.000 + 0.000 + 0.000)
A 2 |HE = HHIE X EH X (RTHEER + RIEEE + RIEERE + EER)
1.800 m3 = 0.300 * 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
IR 1 & = HIE X (TR + R R + RER + MEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
EEEE I 2 |HE = EHlE X (RIER + RIERE + 3UEE + MEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
IR 3 |HE = BHIE X (RTER + RER + YRR + WEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
AR A 1 [FE = HIE X (ETIER + RER + RER + MEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
BARIE IR 2 |HE = R X (RI3ER + RIER + 3UBEER + WEER)
6.000 m2 = 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
HHEIFR DR L 1 |%kdE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
1.800 m3 = 0.300 * 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
PREIBEOE L 2 HE = R X B X (ETIER + RiER + Rk + MEER)
1.800 m3 = 0.300 * 0.300 * (20.000 + 0.000 + 0.000 + 0.000)
P LAy 1 |G EIAE = AR X EA X (ETEE + R/IBIEE + RIBEE + HEER)
(Bt 1) 0.900 m3 = 0.300 * 0.150 * (20.000 + 0.000 + 0.000 + 0.000)
Bk e 1 & = GiERHE S -8
(iR 0.900 m3 = 0.900
B e 1 |FE = WHE e &
() 5.100 m3 = 5.100
W iy 2 |FE = mHlEE &
(hmi) 1.800 m3 = 1.800
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T T % E 8 E E (fF B % )
RETEEEES 09003300
TEEE | 23 | I@EEWM |[HKkEIZ [\-+ES | 02 | JL—F4&#  [BEHEDP=1200(GW)
JE AR G R - - -
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
4.000 m = ((4.000 + 0.000 + 0.000 + 0.000) + ((0.300 — 0.300) * 0.000)) * 1.000
Sl 1 |%kE = WHE X (ETER + RER + it R + WMEIER)
1.200 m2 = 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
0.540 m3 = 0.300 * 0.450 * (4.000 + 0.000 + 0.000 + 0.000)
I 2 |HE = HHIE X EH X (RTHEER + RIEEE + RIEERE + EER)
0.972 m3 = 0.300 * 0.810 * (4.000 + 0.000 + 0.000 + 0.000)
ELE1E IR 1 & = HIE X (TR + R R + RER + MEER)
1.200 m2 = 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
AR 1A 1 [FE = HIE X (TR + RER + RTER + MEER)
1.200 m2 = 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
PREIBEOE L 1 & = HIE X EA X (TR + RIER + JTER + MEER)
0.972 m3 = 0.300 * 0.810 * (4.000 + 0.000 + 0.000 + 0.000)
HHEIFR D R L 2 |HhE = HHIE X EH X (RTHEER + REEE + RIEERE + EER)
0.360 m3 = 0.300 * 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
iy fE 1 |AEEEE SR = BREIE X BEA X (LTHEE + KEE + RIBEE + fMEER)
(Gl A 0.048 m3 = 0.300 * 0.040 * (4.000 + 0.000 + 0.000 + 0.000)
B e 1 |FE = GERAEE R
(Bt 0.048 m3 = 0. 048
By e 1 |FE = WHlE e &
(A1) 0.540 m3 = 0. 540
B e 2 |HE = mHlEE &
() 0.972 m3 = 0.972
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T T % E 8 E E (fF B % )
RETEEEES 09003300
TEEE | 23 | I@EEWM |[HKkEIZ [\-+ES | 03 | J—ts&#  [Ei&DP=1200W)
JE AR G R - - -
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
8.000 m = ((4.000 + 0.000 + 0.000 + 0.000) + ((0.600 - 0.600) * 0.000)) * 2.000
b Bl 1 |%kE = WHE X (ETER + RER + it R + WMEIER)
2.400 m2 = 0.600 * (4.000 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
2.040 m3 = 0.600 * 0.850 * (4.000 + 0.000 + 0.000 + 0.000)
| 2 |HE = HHIE X EH X (RTHEER + RIEEE + RIEERE + EER)
0.720 m3 = 0.600 * 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
ELE1E IR 1 & = HIE X (TR + R R + RER + MEER)
2.400 m2 = 0.600 * (4.000 + 0.000 + 0.000 + 0.000)
IR 2 |HE = EHlE X (RIER + RIERE + 3UEE + MEER)
2.400 m2 = 0.600 * (4.000 + 0.000 + 0.000 + 0.000)
ELE1E IR 3 |HE = BHIE X (RTER + RER + YRR + WEER)
2.400 m2 = 0.600 * (4.000 + 0.000 + 0.000 + 0.000)
AR A 1 [FE = HIE X (ETIER + RER + RER + MEER)
2.400 m2 = 0.600 * (4.000 + 0.000 + 0.000 + 0.000)
BARIE IR 2 |HE = R X (RI3ER + RIER + 3UBEER + WEER)
2.400 m2 = 0.600 * (4.000 + 0.000 + 0.000 + 0.000)
HHEIFR DR L 1 |%kdE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
0.720 m3 = 0.600 * 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
PREIBEOE L 2 HE = R X B X (ETIER + RiER + Rk + MEER)
0.720 m3 = 0.600 * 0.300 * (4.000 + 0.000 + 0.000 + 0.000)
P LAy 1 |G EIAE = AR X EA X (ETEE + R/IBIEE + RIBEE + HEER)
(Bt 1) 0.360 m3 = 0.600 * 0.150 * (4.000 + 0.000 + 0.000 + 0.000)
Bk e 1 & = GiERHE S -8
(Gl A 0.360 m3 = 0. 360
B e 1 |FE = WHE e &
() 2.040 m3 = 2.040
Bk e 2 |FE = mHlEE &
(A1) 0.720 m3 = 0.720
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T T & 2 %+ B & (8 & % )
BEHEGEES . 00003300 L HEEHE]
| TEEE | 23 | THESEW [HKkEIE L—+&E | 04 | IL—F&% |E#hATIEC(GW)
JiE R | EHEEEE A
i1 1 [E = R X B X (ETHEE + RER + RAWER + WEER)
2.250 m3 = 0.500 * 1.000 * (4.500 + 0.000 + 0.000 + 0.000)
L1 1P 1 [E = mlE X B X (ETHEE + 2EE + AWER + MEER)
0.225 m3 = 0.500 * 0.100 * (4.500 + 0.000 + 0.000 + 0.000)
AT 10 1 DR = e X (ETHEE + REE + AEE + MEER)
2.250 m2 = 0.500 * (4.500 + 0.000 + 0.000 + 0.000)
SR B L 1 [E = mlE X B X (ETHEE + 2ER + AWER + MEER)
1.687 m3 = 0.500 * 0.750 * (4.500 + 0.000 + 0.000 + 0.000)
7% 45y 1 [ME = WEIE U R
(B 1) 2.250 m3 = 2. 250
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T T % E 8 E E (fF B % )
BEEEEES . 09003300[ L) EHE]
[ T@EE [ 23 | TI#E&#% [GKkEIS [L—-+rES | 05 | J—+&#  [EthAEIECoW)
Ji& A1) B Bt &m A s i ' K
] 1 [ = WAE X ER X (ETIEE + RIBEE + RLE + BEER)
9.000 m3 = 1.000 * 1.000 * (9.000 + 0.000 + 0.000 + 0.000)
HEIH 1 [ = WAE X 5 X (ETIEE + RIBEE + LE + BEEE)
0.900 m3 = 1.000 * 0.100 * (9.000 + 0.000 + 0.000 + 0.000)
[l 1 [f = WAE X (ETER + REE + SURIEE + MELER)
9.000 m2 = 1.000 * (9.000 + 0.000 + 0.000 + 0.000)
TR 1 [ = AR X 5 X (ETIEE + RIBEE + ALE + BEEE)
6.750 m3 = 1.000 * 0.750 * (9.000 + 0.000 + 0.000 + 0.000)
RN 1 [ = i UE LR
(HEH!) 9.000 m3 = 9.000
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+T T &% E ft E & (& B % )
REEEEES . 09003300 [ L4)FKRETE]
IBES | 23 | T@4#m |#kEIs - &S | 06 | IL—+&% |EthAgIECOWRERL)
JE AR G R - - -
b 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
3.000 m = ((1.500 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 2.000
RSl 1 |%kdE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
0.150 m3 = 1.000 * 0.100 * (1.500 + 0.000 + 0.000 + 0.000)
HHI 1 & = HIE X EA X (TR + RIER + RTER + MEER)
1.350 m3 = 1.000 * 0.900 * (1.500 + 0.000 + 0.000 + 0.000)
EEEE R 1 |%kiE = WHE X JBA X (RTER + RIEEERE + RIEEE + MEERE)
0.150 m3 = 1.000 * 0.100 * (1.500 + 0.000 + 0.000 + 0.000)
BARIE IR 1 & = HIE X (TR + R R + RER + MEER)
1.500 m2 = 1.000 * (1.500 + 0.000 + 0.000 + 0.000)
HHEIFR D R L 1 |%kiE = WHE X B4 X (RTHER + RIEERE + RIEEE + MEERE)
1.125 m3 = 1.000 * 0.750 * (1.500 + 0.000 + 0.000 + 0.000)
By e 1 & = GhiERHE S 8
(B 0.150 m3 = 0. 150
B e 1 |FE = WHE e L&
() 1.350 m3 = 1.350
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T T % E 8 E E (fF B % )
REEEEES . 09003300[ L4 #)HEHE]
| IBES | 24 | T@E4M [J2BEFEEISE - &S [ o1 | W—r&# [EEE
JEFER EN Gl B M. il / 7t B =

Al 1 |FE = AMEIHERE - A am i

400. 000 m2 = 400. 000 — 0. 000
BEEATEIR 1 |FE = AMEIHERE - A adm i

400. 000 m2 = 400. 000 — 0. 000
5% ALy T 1 [BEmEE = ORERmRE - S X B
(G dm ) 20.000 m3 = (400.000 — 0.000) * 0.050
B e 1 [FE = GERAEE R
(S AEHm ) 20.000 m3 = 20.000
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T T % E 8 E E (fF B % )
REEEEES . 09003300 [ L4)FKRETE]
ITiEES | 24 | T@4#%H |[H2@EsHEBIE - &S | 02 | —re% [B#EiTEZ
JEFER G R - - -
D) 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
16.000 m = ((8.000 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 2.000
Sl 1 [BE = AERWEE - Gk i
17.000 m2 = 17.000 — 0.000
EEEAEIR 1 |[BE = AERmE - Gk i
17.000 m2 = 17.000 — 0.000
EEEATEIR 2 |B%E = AEIEWRE - Ak i
17.000 m2 = 17.000 — 0.000
EEAE R 3 MR = AEIREE - R
17.000 m2 = 17.000 — 0.000
FE A0 1 [EEimnsE = (RERmE - (i) X Bk
(B ) 2.550 m3 = (17.000 — 0.000) * 0.150
¥ Ly 1% = s UE R
(Gl A 2.550 m3 = 2.550
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T I % E H E & (8 &8 % )
REEEEES . 09003300[ L4 #)HEHE]
ITiEEE | 24 | THEAH |[I2sEKXEIRIE - &S [ 03 | JW—Fr&% [J|AIiTEZ
JE TR IEN S = M il / &t = =X
LS 1 [HE = (ETEE + RKIEVIERE + REE + BEERE) + (FEFIRENE - S@imhie) < SEFmEI)) X gmimkk
2.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 1.000
AR HI 1 %% E = AEIRmAE - T ik

7.000 m2 = 7.000 — 0.000

BiEEAE IR

S = AEIRTRE - A7 el di kg

7.000 m2 = 7.000 — 0.000

PR JE 1 |SERE R = OMEIRmAE - AR X &4
(BEEHH A 0.350 m3 = (7.000 — 0.000) * 0.050
LS e 1 [BE = SRS e R

(Ei i)

0.350 m3 = 0. 350
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T I % E H E & (8 &8 % )
REEEEES . 09003300[ L4 #)HEHE]
ITiEEE | 24 | THEAH |[I2sEKXEIRIE - &S | 04 | IW—r8% [H@EiTz
JE TR IEN S = M il / &t = =X
LS 1 [HE = (ETEE + RKIEVIERE + REE + BEERE) + (FEFIRENE - S@imhie) < SEFmEI)) X gmimkk
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
Al 1 %% E = AEIRmAE - T ik

5.000 m2 = 5.000 — 0.000

BiEEAE IR

S = AEIRTRE - A7 el di kg

5.000 m2 = 5.000 — 0.000

PR JE 1 |SERE R = OMEIRmAE - AR X &4
(BEEHH A 0.200 m3 = (5.000 — 0.000) * 0.040
LS e 1 [BE = SRS e R

(Ei i)

0.200 m3 = 0.200
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T T % E 8 E E (fF B % )
RETETIEES : 09003300 LKA E]
| IBES | 24 | T@E4M [J2BEFEEISE - &S | o5 | J—Fr&H% |coliTHz
JEFER EN Gl B M. il / 7t B =
R 1 |k = A IRwERS - A dR

5.000 m2 = 5.000 — 0.000

BEEAE IR

1

S = AIEIRERE - A R d i

5.000 m2 = 5.000 — 0.000

P e 1 |EREEE = OREIRmRE - AR X 2
(BEEHH A 0.250 m3 = (5.000 — 0.000) * 0.050
PR TE LB = S e R
(Ei & dm i) 0.250 m3 = 0. 250
P A e 1R = WHEUE LR
(A1) 0.500 m3 = 0.500
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T T & E §& & ( 5 &8 % )
REEEEES . 09003300[ L4 #)HEHE]
TiEHS | 24 | TE&% |H2asExEEIS - &S | 06 | I—Fr8F [coliTHEEL
J& Al IEN S = M il / &t = =X
ESEn 1 [HE = (ETEE + RKIEVIERE + REE + BEERE) + (FEFIRENE - S@imhie) < SEFmEI)) X gmimkk
5.000 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 1.000
AR HI 1 %% E = AEIRmAE - T ik

5.000 m2 = 5.000 — 0.000

BiEEAE IR

S = AEIRTRE - A7 el di kg

5.000 m2 = 5.000 — 0.000

FEAZAIE N 1 [k = AR mA — o E g i s
5.000 m2 = 5.000 - 0.000
s E 1 [EEEHRAEE - KB mER - (i Ea) X B
CESELI) 0.750 m3 = (5.000 — 0.000) * 0.150
s E 1 [ = EREERAIS UE
(ER A 0.750 m3 = 0.750
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+ T E H " ( 5t E % )
BEEEEES ;- 09003300[ 4 HEEEE]
| IBES | 24 | TE&% |H2asExEEIS L—+&E [ 07 | W—trE% [8BHT
& FiRI) g 3 & A S =t ®
AR 1 |k = AMEIRERE - 5 b
5.000 m2 = 5.000 — 0.000
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T T % 2 &t 8 E (FH & % )

SRETEEEES - 09003300 [ H4EEETE]
| T®s | 25 | IEEW |KESEAEEIS L —-rBEE | oo | —tewm  [SEu
JE R B O[EF & L s~ F  FH K
[l 1 & = AEIRmER - sk

400. 000 m2 = 400. 000 — 0. 000

BEEAE IR

S = AIEIRERE - A R d i

400. 000 m2 = 400. 000 — 0. 000

P4 e 1 |EERE R = ORMEIRmAE - A i) X &
(BEEH A 20.000 m3 = (400.000 — 0.000) * 0.050

PR e 1 |BE = SRS e R

(BAEHH A 20. 000 m3 = 20. 000
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T T % E 8 E E (fF B % )
REEEEES . 09003300 [ L4)FKRETE]
ITiEES | 25 | T@E4&% |kEsmEsEEIE - &S | 02 | —re% [B#EiTEZ
JEFER G R - - -
D) 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
16.000 m = ((8.000 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 2.000
Sl 1 [BE = AERWEE - Gk i
17.000 m2 = 17.000 — 0.000
EEEAEIR 1 |[BE = AERmE - Gk i
17.000 m2 = 17.000 — 0.000
EEEATEIR 2 |B%E = AEIEWRE - Ak i
17.000 m2 = 17.000 — 0.000
EEAE R 3 MR = AEIREE - R
17.000 m2 = 17.000 — 0.000
FE A0 1 [EEimnsE = (RERmE - (i) X Bk
(B ) 2.550 m3 = (17.000 — 0.000) * 0.150
¥ Ly 1% = s UE R
(Gl A 2.550 m3 = 2.550
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T T % E 8 E E (fF B % )
REEEEES . 09003300 [ L4)FKRETE]
ITiEES | 25 | T@E4&% |kEsmEsEEIE - &S [ 03 | JW—Fr&% [J|AIiTEZ
JEFER G R - - -
D) 1 % = (BTHERE + RV IEE + RIBIEE + WEER) + ((RFIRAE - WmimEeE) X MFmEps)) X bllEk
2.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.000 - 1.000) * 0.000)) * 1.000
Sl 1 [BE = AERWEE - Gk i
7.000 m2 = 7.000 — 0.000
EEEAEIR 1 |[BE = AERmE - Gk i
7.000 m2 = 7.000 — 0.000
7k A0 1 [EEimnsE = (RERmE - i) X Bk
(B ) 0.350 m3 = (7.000 — 0.000) * 0.050
¥ Ly 1% = sEEEIEUE R
(Gl A 0.350 m3 = 0. 350
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T I % E H E & (8 &8 % )
REEEEES . 09003300[ L4 #)HEHE]
TiEHS | 25 | T@E4&% |kEsmEsEEIE - &S | 04 | IW—r8% [H@EiTz
J& Al IEN S = M il / &t = =X
ESEn 1 [HE = (ETEE + RKIEVIERE + REE + BEERE) + (FEFIRENE - S@imhie) < SEFmEI)) X gmimkk
4.000 m = ((2.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 2.000
AR HI 1 %% E = AEIRmAE - T ik

5.000 m2 = 5.000 — 0.000

BiEEAE IR

S = AEIRTRE - A7 el di kg

5.000 m2 = 5.000 — 0.000

PR JE 1 |SERE R = OMEIRmAE - AR X &4
(BEEHH A 0.200 m3 = (5.000 — 0.000) * 0.040
LS e 1 [BE = SRS e R

(Ei i)

0.200 m3 = 0.200
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| IBES | 25 | T@4#% |[KESEXEHEHISE | o5 | J—Fr&H% |coliTHz
JEFER EN Gl B M. il / 7t
AR HI 1 |FE = AMEIHERE - A am i
5.000 m2 = 5.000 — 0.000
EEEAEIR 1 |FE = AMEIHERE - i adm i
5.000 m2 = 5.000 — 0.000
5% ALy T 1 [BhEmEEIEE = OREIRERE - s imis)
(G dm 1) 0.250 m3 = (5.000 — 0.000) * 0.050
FE 0y e 1 |[FE = GiERAE S &
(GBS ) 0.250 m3 = 0.250
5% ALy e 1 |%E = WA E LR
() 0.500 m3 = 0.500
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T T & E §& & ( 5 &8 % )
REEEEES . 09003300[ L4 #)HEHE]
TiEHS | 25 | T@E4&% |kEsmEsEEIE - &S | 06 | I—Fr8F [coliTHEEL
J& Al IEN S = M il / &t = =X
ESEn 1 [HE = (ETEE + RKIEVIERE + REE + BEERE) + (FEFIRENE - S@imhie) < SEFmEI)) X gmimkk
5.000 m = ((5.000 + 0.000 + 0.000 + 0.000) + ((1.000 — 1.000) * 0.000)) * 1.000
AR HI 1 %% E = AEIRmAE - T ik

5.000 m2 = 5.000 — 0.000

BiEEAE IR

S = AEIRTRE - A7 el di kg

5.000 m2 = 5.000 — 0.000

FEAZAIE N 1 [k = AR mA — o E g i s
5.000 m2 = 5.000 - 0.000
s E 1 [EEEHRAEE - KB mER - (i Ea) X B
CESELI) 0.750 m3 = (5.000 — 0.000) * 0.150
s E 1 [ = EREERAIS UE
(ER A 0.750 m3 = 0.750
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[El] B Bt &m A s i ' K
A AR 1 [ = A Inma - (b A
5.000 m2 = 5.000 — 0.000
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R6. 12 A fE1EhR

EIRDOIE-~Ti& BItT® I & x &
1 1 1 iE N 3
e el ®FF g | & A Blowm
W ® o o = i i B Z =
I o = = # 1
S £ Y # = #il &%
% £ = =40) E # = =]
= O] @ ® @ ® ® @ ®
@/@D*2 | B*2+Q ®/@
(m) (m) (t/m-#0) (m) (#) (t) ([D) (1) () (m)
HRA%
eI 0.25 2.0 0.0118 6.0 48 1.1328 1 1.1328 1 2.0mEAF|1.1~1.5
REEUIB 0.25 2.0 0.0118 6.0 48 1.1328 1 1.1328 7 2.0mEAF|1.1~1.5
G150 0.25 2.5 0.0118 2.5 20 0. 5900 1 0. 5900 7 2.0mLTF|0.9~1.1
FTiE 0.25 2.5 0.0118 1.5 12 0. 3540 1 0. 3540 7 2.5mEAF|1.1~1.5
KiEH
W150 0.25 2.5 0.0118 2.5 20 0. 5900 1 0. 5900 7 2.0mLATF[0.9~1.1|#B
FEiE 0.25 2.5 0.0118 1.5 12 0. 3540 1 0. 3540 7 2.5mEATF|1.1~1.5 8%
(BERFXIR-TAH - 513kT) _
JEAIE
1.5mELF | 2. OmEA TR [ 2. 5mELF [ 3. OmELAF | 3. 5mEA R | 3. 8mLLF
R 14.5 1.5
JKiE 2.5 1.5
(XRI) _ (ERFXIRER] _
SREIIE JEHIE RO | HAE%] XERERASEE |[XREAEE LH)
2. 0mEATF [ 3. 5mEAF [ 3. 8mLAF 1[E] 78 3.2096 3.2t
0.9TF HR
. 0.9~1.1 2.5
AA 1.1~1.5 12.0 1.5 1[H] 7H 0. 5900 0.6t
1.5~2.0 KE 1[a] 78 0. 3540 0.4t
0.9
K 0.9~1.1| 2.5 URERHMBLA - REER) (REMERER)
1.1~1.5 1.5 EifESEE L) ; EifESEE L)
1.5~2.0 AR 3.2t AR 6. 4t
IKE 1.0t JKE 2.0t




